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Part A (18 marks) - Attempt all questions before moving on to Part B
1. Simplify. (3]
7
a) (y))(y?) oD b) (), 2 c) :7 s
= t\& =R = Lo
AT -~y b -
= q = x Ce
2. Simplify {6}— [‘Q']
Ja) Sx- 3x ~b) 6a+3b+a+5b ‘/c) 2(x+vy)
= Ax = Ja &b ‘*‘37*73
+ -
d) (5x? + 8x—2) + (4x2 -5x -3) e) 6x2-33) + AxE(AX3) + x +1
Ve Sa2egy-2 “Ux iS5y~ 2 /:_(owg-eg-bb{y-qz?.l-'x*l
= ’7’7-’»4?5»:-5 x/:.ga(3+5’;\,,.q
3. Given the polynomial 3x>4x- 6 ' _ (3]
a) How many terms does it have? % b) What is the constant? — ("
c) Name the polynomial. Trinomial
4. Simplify. Don’t leave negative 'exponents [6]
x7y® 18w3z3
2) 73y b) (-3a°b?)(5ab’) c) Py
y . 54 2+ 3 2-2 S - 3
> - = -9 ’9 — Q To
= Y = bl 5'
3 J— L bb’
= /3-0 - b 2
- y “ﬂs . Ld‘g
5. Simplify. Show steps for full marks. (6]
a) 2(a-2) +5(a +3) h) 3x(x+2) ) (w-w=3)-(2w* -4 w+1)
= Ao ~-H tSa+l5S =3 ‘o Flofsto3 -0 o - )
,’_7&_\“ = —L\)‘-rgw—L‘

<



—_—

22

Part B (23 marks) Show your work for full marks

6. A friend has a different answer than you do. They show you, their work. Circle the errors. Correct the
errors and explain what they did wrong

(4]
v 2 M
DE' o N\ =2x Y (—2a3)4 "(—;LE\T(ZLZ
oc (-2>° 2a%(a®) L o 5
O oY 10" ! Hay added  OCHD = Moo
J oS 2 05
Gt omiwwrchy O
@ ‘/{au Add -3 rrskad of &
7. (§implify. Remember to show all work. g é>3 [10]
4,2\3
a) (2 (33 b) '(az_as)z' - C‘CL_E
At u) (a%a®) (A®)
= (25 (@ YL - s
-8 x3 J Tty = =%
= ~°rl7( U v a2
2 ,8amE gy gt v GE(3 _ (223 y D/
o e S -
2a~2b ;20.“2193 | (3xy>)? 7?\,23!3
_ 26?7 _ -5y 5yt
- -% ?72 10
12 3/
& ' ' = L
8. Simplify | (6]
a) -5x(2x — 3x3) b) 2[x+3(2x-4)]
= -~ O+ 5z = 2(x+ br-12)
=2(3x-12)
= (Hx -2V

9, Find the missing side given the perimeter of the rectangle is 10x +6 cm. Show all your work

O 4lo — 2(31(—5‘>

. . Bl
One sde ~ 5 (br!tD x5
= )0y +b = Yat 10 = 2t3
= (a';(r b @7
r___ Bt
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